O 31 FELE (5F) s ERKTOANERER

AHERROfESH WBRERE OGS gt | ERB =5
L] 27 M |26 A |1 7H
L) 40 30 10
T Eziﬁﬁ — — —
El=EE
ﬁgj " 75 751 |53 751 | 22 75
— i 27 M |26 A |1 7H
FIRYEER
R L 8 7 H 4 7H 47 H
FRYERR 27 M (26 A |1 5H
By 57 F AR 2771 (26 A |1 5H
900 /FFHILLT 38 /M 3375 |5 /HH
—fi% 900 J7 I8 950 LA T 26 i (225 |4 5H
950 J7 8 1,000 7T HLLF 135/ |11 458 |27H
B (i bR
900 /T LT 48 7 |38 /iF | 10 i
ZN(70 7%
) 900 J7 8 950 LA T 32 /M |26 7 |6 HH
950 J7 F9#8 1,000 ST 16 7 (13751 |3 7H
900 /FFILLT 38 /M 3375 |5 /HH
38 J3 P8 40
i : 900 J7 8 950 LA T 26 M (22750 |4 5H
J7 PR
e 950 J7 8 1,000 JTHEAF 135 (11 AH (2 H5H
3
& 900 /FFHILLT 38 5 |33 A o1
D (%1)
TiC 8 7 e 1 P o & |40 THRLE 900 J7 8 950 Ji LA F 26 i |22 277
R R P TR E S (%2)
Fit 177H
i 950 J7 18 1,000 JTHEAF 135 |11 AH
% (3%¢3)
élﬁﬁmuk 900 LA ‘
4 : = B L
= 1125 FHE | 900 & 950 HFHLLT e ()
fitd 950 J7 [9#4 1,000 7 FILLTF '
— i 38 M |33 |577H
i 637 |45 /M |18 JiF
PRl
N 48 7 |38 /iF | 10 i
EIZES: 58 i |45 /A |13 /A
FLIEPERR 385 33 |5 M
Fa 1 FekliErr (FRK 30 FE £ ) OREBERRIZEHROE=E ((FER - 33 A, Fri5f 1 36 AF)

JEEC 2 1 BiHISIER]
Valah)

EEC 3 1 BieRIERT
Valah)

(Fr 30 FEXT) ORMBEERIERD 39D 2 0EE (ERB 22 A, B :

24

(PR30 EE X T) DEMEEREIIZERD 39D 1 0EE (ERA 11 FH. Frsft : 12

EEC A BHISIER (ST AR OEA 2 X 570, ERERCERE T2 aaBENELD I a0

ZEN B,

AREEIEBR DN R E Y £ A



